	147000


Round 2347 
to 3 sig figs.

	2350


Round 1.269 
to 2 sig figs.
	0.000030


Round 7.994 
to 2 sig figs.

	1.3


Round 186 
to 1 sig fig.
	200


Round 2.0137 
to 4 sig figs.
	8.0


Round 10.356 
to 3 sig figs.

	2.014


Round 368249 
to 1 sig fig.

	400000


Round 0.00245 
to 1 sig fig.
	10.4


Round 0.08907654 to 1 sig fig.

	0.002


Round 0.0000058763 
to 2 sig figs.
	0.0000059


Round 0.000030456 
to 2 sig figs.
	0.09


Round 89.98 
to 3 sig figs.

	

90.0


The number 45678 has 5 sig figs. Round to 1 sig fig.
	50000


Round 136000 
to 2 sig figs.
	23.1


How many sig figs does 45.0987 have?

	140000


The number 78.97654 has 7 sig figs. Round it to 4 sig figs.
	78.98


How many sig figs does 0.0006 have?
	6


How many sig figs does 0.00000102 have?

	1


Round 0.00097 
to 1 sig fig.
	0.001


Round 23.0687 
to 3 sig figs.
	3


The number 0.000019 has 2 sig figs. Round it to 1 sig fig.

	0.00002


Round 140189 
to 4 sig figs.
	63.0


How many sig figs does 2.0003409 have?
	8


Round 0.20450 
to 3 sig figs.

	
140200


The number 1.092 has 4 sig figs. Round to 2 sig figs.
	1.1


Round 0.0186 
to 2 sig figs.
	0.205

The number 0.0094 has 2 sig figs. Round it 
to 1 sig fig.

	0.019


Round 102 
to 1 sig fig.

	100


Round 10.68 
to 2 sig figs.
	11


Round 0.00036945 to 3 sig figs.

	0.000369


Round 62.99 
to 3 sig figs.
	0.009


Round 147300 
to 3 sig figs.
	

	
	
	



